

18417 SYMPHONY CT, JUPITER, FL, 33458

https://ritterproperties.com

Welcome to your dream home in the heart of Jupiter! This stunning 5-bedroom, 5-bathroom residence, completed in 2023, offers a perfect blend of contemporary design and luxurious comfort.

Nestled in a brand-new community, this home boasts a wide lake view that provides a serene and picturesque backdrop. Step inside to discover a light, bright, and [...]

- 5 beds
- 5 baths
- Residentia
- Single Family Residence
- Active
- 4522 sq ft



This site can't load Google Maps correctly.

Do you own this website? g.co/staticmaperror/signature



Basics

Date added: Added 1 month ago

Type: Residential

Bedrooms: 5 beds

Total rooms: 8

Lot size, sq ft: 12776 sq ft

ListOfficeName: Waterfront Properties & Club C

View: Lake

MLS ID: A11675690

Category: Single Family Residence

Status: Active

Bathrooms: 5 baths

Area: 4522 sq ft

SubdivisionName: Symphony at Jupiter

GarageSpaces: 3

ListAOR: Miami Association of REALTORS®

Rooms



Room type	Dimensions	Area	Length	Width
PrimaryBedroom	15.8 x 18.5	292.3	15.8	18.5
LivingRoom	24.8 x 21.5	533.2	24.8	21.5
ThirdBedroom	20.1 x 11.11	223.311	20.1	11.11
Loft	12.1 x 21.3	257.73	12.1	21.3
SecondBedroom	12.2 x 13.7	167.14	12.2	13.7
Kitchen	17.5 x 15.4	269.5	17.5	15.4
FourthBedroom	12.11 x 13.7	165.906999	12.11	13.7
FifthBedroom	13.4 x 11.9	159.46	13.4	11.9

Building Details

Cooling features: Central Air

ArchitecturalStyle: Detached, Two Story

Building Name: Symphony at Jupiter

Roof: Concrete, Other

Parking: Driveway

Year built: 2023

NewConstructionYN: No

Exterior material: CBS Construction

Heating: Central

Amenities & Features



Features: Den/Library/Office, Entrance Foyer, First Floor Entry, Laundry Tub, Utility Room/Laundry,

Volume Ceilings, Walk-In Closet(s)

CommunityFeatures: None **Waterfront available:** Yes

AttachedGarageYN: Yes

PoolPrivateYN: No

Amenities: Dishwasher, Disposal, Dryer, Electric Range, Microwave, Refrigerator,

Washer

WindowFeatures: Clear Impact Glass

GarageYN: Yes **CoolingYN:** Yes

FireplaceYN: No

